jet / drn3jet [pb/GeV]

dcy3

Ratio to DO

H
o
>

H
o
w

=
o
N

10

[EEY

0.5

1960 GeV ppbar Jets
I T T I T I I T I T T I T I I T —]
= | | I_%
B 3-jet mass (DO p_,>40GeV, ly| < 2.4) 13
’ =
— — A
= =~
— N
— e
- —
o
= — %
= =
— e
- - -
- by
— —m
@
- M
— i
~ —&— Pythia 8.301 default . ;
| ——— Pythia 8.301 tune-A14-CTEQL1 1%
| ------ Pythia 8.301 tune-A14-MSTW2008LO _s
= e Pythia 8.301 tune-A14-NNPDF2.3LO 3c
— ---- Pythia 8.301 tune-CUETP8S1 18
%]
- BiE
o
= =
:I | | | | ' | | | | | |: E
:I | T T T T | T T T |:
— —2
1
L —0.5
1 " | " 1 1 " 1 1 " | " 1 " 1 1 " |
500 1000 1500



	Contents
	Page 1


